SITE 996

Texture Minerals Biogenic
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996 A 1 H 1 40 0.40 | D 5 60| 35 3 T|10] 1] 1 1| &0 2 10
996 A ‘ H 3 40 2.19 | D 5 50| 45 15] 2| 25 1 2|20 5 20
996 A 1 H 5 40 3.12 | D 5 20| 75 3 1|45 1 g 3 3 30
996 A 1 H cC 0 3.86 | D] 20| 30| 50 201 2] 25 1 3 10 10 25
996 A 2 H 1 30 8.80 | D 5 15| a0 5 2]155]T]1 3 2 5 2 25| T
996 A 3 X 1 a0 9.80 D 30] 70 5 2] 15 2 b 25 3 45| T
336 A B H 1 40 48.90| D | 30| 10] 6O 20 40 T T)| 2 12 2 20 2
996 2 8 H 4 50 50.93| D] 20| 15] 65 20 48 1] 2 1 5 201 2
9946 A 8 H 4 94 51.37| M 100
996 A 9 H 2 45 59.88| D| 15| 30| 55 30 42 1 T 1 1 12 1 5 2 5
996 A 9 H ] 45 62.70 15] 30| 55 20 50 1 1 2 12 1 5 2 5
996 B 1 H 1 50 0.50 15| 30| 55 10 50 1] 25 3 5 5
996 B 1 H 3 38 235 20] 75 10 66 1 1 1 2 0] 2 2
996 B 1 H 4 33 2.92 5 20] 75 10 65 1. 1 1 3 g 10 2
996 C 1 2 38 152 60| 40 10 30 1] 50 2 2 5
996 C ki H 3 23 2.14 | D] 10] 15] 75 17 60 1 3 2 5 10 2
996 D 4 H 1 40 23.00]| D 15| 85 10] 3| 65 3 1 3 15| T
996 D 4 H 5 20 26.56| D 10| 80 6 2| 66 T|T| 4 1 3 1€ 5] T
396 D 4 H 3 40 27.64| D 13 ] 87 10] 3] 70 5 1 5 4 T 6 T
996 D 6 H 2 40 42.87| D 40| 60 10] 3] 55 Lo B 25 T 5 T
396 D 6 H 4 50 44.99] D 0] 70 10] 31 25 T| 5 2 2 2 201 2] 25 2
996 D 6 H 5 60 45,81] D 301 70 a 3136} T Tl 3 1 1. T | 25] 1] 20] 1
396 E 1 H 1 45 0.45 D] 20)] 20| 60 10 57 1 T 101 1 5 1 10 5
9596 E 1 H 1 130 1.30 | D] 20] 25] 55 25 50 1T 11| 3 3 5 2
996 E 1 H 3 65 3.65 DJ| 20] 30] 50 25 55 < ] T 5 1 A 5 5
996 E 2 H 1 68 4.78 DJ| 20] 30| 50 15 47 1 1 5 2 15 5 10
996 E 2 H 2 45 6.05 | D 5 25| 70 10 57 T X 1 5 1 5 15 5
996 E 2 H 4 82 9.42 | D 2 35| 63 5 33 7 T 1 T 50 5
296 E 2 H 5 45 10.55| D | 15| 25| 60 20 50 T| 2 5 2 5 10 5
996 E 4 H 2 30 24.83| D 5 35] 60 15] 1| 50 11T 15 3 5 T 10
996 E 4 H 5 45 28.15| D | 10| 30| 60 20 52 1 5 2 5 10 5
996 E 5 H 2 45 33.4B| D | 15| 25| 60 20 48 T| 2 8 2 5 10 5
996 B 5 H 5 73 37.78| M 5 5 90 5 46 1 3 5 40
996 E 6 X 1 97 43.17|M | 15| 80| 5 3 2 85
996 E 6 X 2 45 43.96| D 5 40| &5 10 46 £ ] [T T 2 15 201 2 3
996 E 6 X 5 45 48.46| D 2 33| 65 12 60 1 12 1 2 7 T 5
996 E 6 X CC 11 51.62| D| 15| 15| 70 20 47 2 8 1 5 10 2 5
996 E 7 H 2 &0 53.26| D 5 20] 75 10 70 1 5 3 2 5 1 3
996 E 7 H 5 80 56.48| D | 10| 30| 60 20 50 T] 1 7 1 5 101 1 5
996 E 7 H 7 10 58.03| D| 10| 20| 70 15 66 1 5 1 5 & 1




